Noteguide for Point Array Potentials - Videos 16L		       Name				

The sum of the potentials due to an array of point charges or masses is the scalar sum of the individual potentials.  (Scalar is like a number: 3+5=8)
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(I feel like if you watched those examples, you really don't need to do the whiteboards, but I put them on the back just in cases - so they are optional)
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Charge A is -1.20 nC, charge B is
+3.40 nC Find the Potential at the x
(Each square is a meter)
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- Mass Ais 2.30x10'2 kg, mass B is
. 8.70x10'? kg Find the Potential at
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| (Each square is a meter)
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-81.2 J/kg

Mass A is 5.10x10'? kg, mass B is
2.40x10'2 kg Find the Potential at
the x

(Each square is a meter)
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Find the voltage at point C

38 cm

+1.1 pC

-14,000 V




